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" Birvetions  In questions we. 1 10 7, elect the 1

roleed  weord Aletters inumber  from  the  piven
m
‘L. FLEX:DJPV: EKQW: 7
Al WQKE (Bl BEMT
AC) Clou D AGMS
C R L
A 61 (B 48
s ) 49 D) 50
AR TR
fA) 10 B) 17
iy 14 m 13
I 4. Squint: Vision - : Stammering - 2
(A} Tongue (B) Mouth
i€} Hearing iTH Spesch
i 5  Rocket:Tenniy:: 7
it M Bat - Cricks
A {B) Ball - Football
E () Glove : Cricket
-k (D} Board : Chess
6. Hand : Glove -: Head: 7
(A} Haar-pin (B) Hair
(T () Hat (I Neck
1.  TCEJBD :UBJ'EH::T’(:EJDRF.;
Al ROMOECT {Br ROPJECT
(0 JCOTROP (4 PROJECT

ﬂlmﬁm I questions no. & to 11, find the odd
wordsfletters/number  pair  from  the Fiven
- oliernadives

8. (A} Hadish
EH  Patata

(B} Carrot
(DO} Beerroo)

(B) UROL
@) YVSP

13

13,

14.

Directions : In questions ro. 76 o I8, a serics i
Buen, with onc lorm missing. Choose the correel
the serien '

PART | : GENERAL INTELLIGENCE

m*mﬂth'ﬂ'wW“wuh-
meaningfil order of the following 7

1. Plonghing 2. Wending
fA) 1,2.4.3 By 1,254
(€) 1,3,2.4 D 2,3.1,4

Arrange the following words sceording to the

English Dictionary :

1. Voysge % Voles
3. Vocation 4. Valume
A 2.4,8,1 H 5141
Ch 284,11 im 0,4.2.1

Which one st of lettors when ssquentiolly

placed at the gaps in the given leller series

shall complets i1 ? :
n_bab_ab_shb

{A) bba

C) ana

(B] baa
(¢ bbb

Find ot the st amang the four setn which i
like the given mel.

(11 =18-2%)
Ay (9-14-24) By {4-12-18)
(C; 19-26-33) (D) (18-28-233)




m m.x,m..u_m-mﬂ

Ty 4

iA) 26 B B
([ (D35
In the following series of Enghsh alphabets,

how many "a b oocorin such o way that %' is

in the middle and both ‘2’ and ' are on any

one side,
gqbeajlebaidaechkambeno
ahcpkderbehaggabelebetu

(A 2 Bl &

{3

T PSYCHOLDGY is codded as "0834215175
and ‘SOCIOLOGY is ended az B1201517;
then PHILOSOPHY can be codded as

(A) 9105252813  (B) 9305182923
(C) 9206181023 (D) 9205181923

Prakash jumps higher thar Pinskin, but oot
ns moch us Ketan jumps. Rohan jomps lower
than Prapav bul not less than Ketan Wha

jumps lowes, T
(A} Pranav (B Pinakin
IC) Ketan {D) Rohan

Loeln and her grandmother differ in their
nges by 60 years. Afler 10 years, if the sum of
their ages 15 100 vears, what are their present

27. From the given alternalives select the word

which canmol b formed using the fetiers of

the given word.,
TRANSLATION

(Al BATION (B} THANSIT

G4 TRANSMIT I NATION

1 ‘ETHICS can be wratten as SECTIH' thon

=,
how can ‘AFECTION be written 7
(Al NAOFITCE (B: NADFETIC
(C) NAOFICTE % NADOFIETC

Some letters are given below in the first line
and numbers aro giver below them in the
second line. Mombers are tho codes for the
alphabets and viceworaa, Choose e correct
number-code for the given set of alphabets

AFEHIEKEOMUR
s 4081 82T

MAEIOL
{A) 68E201 iB) 698102
Gl 688012 D} GeRZIO
B0, From the gven alternatives select the word
which can be formed uping the letters given
in the word
ONSLALUGHT
(A} BSTRONG 1B} HOUSE
(C+ GHOST i ENOUGH

iges ? Directions : In guestions no, 31 and 32, select the
tA) 25 B6 (B} 20,80 missng sumbor from the given responses.
(G4 10, 70 (D) 15,75 3. 4 5 B
| P B
Sarika is 18% from sither ead of a row of § 10 4
—grls: How many prls are there in that row 7 48 200 64
(A) 18 (B) 38 (" 4 (B) 185
H4Ch 29 (DY a7 iCY a0 S
‘Mohan is hushand of Sone. Sena s aunt of |5, - o o
\ Ehil:ll.ﬁ.nkit.hlwthtnfﬁmu.fhwuﬁ.nkit 8 63 7
m mh‘! !'.BJ l:hd- (A) 119 ®) 17
. mmm WORK | 5 %74 & fore vy ; e\
= g e g e R ol 6 e



W 28
i 23

'ﬁt‘lhmtimtmnﬂumhhluu.
 walks 5, 15 and 16 m, respectively. How
inhmmnmmn

iﬂ bm

(D 16 m

BrBaBiding
w - (B) #44m
-:'i'ﬁ}_'-"'-r’xi- el _u++.

| Directions : In questions o 19
satements oy given, followed by to

A,
filiieiin

Tand I You hape io conafder the slizemenis to be
trie, wven if they sevm (o be of parianer from

41.

pommianly kioten fucts, You hoiw to decide whileh of
ihe giiem conclusions, if any, follow from e gioen
winltements Padicate yolr anauer,

Siatesents |

Thie world s nelther good nor bad. Each
individual manufactures world for himself

Conclumans
L. Bome prople find this werld quite good.
Il Some people Ond this worlid quite bad

Neither concluston T mer 1) fnllows
Oaly evmelnmion | finllews

U Only oonolnston 11 follows
Baoth conclusions | and §1 follow

Srotemenin

All trams are prams. No pram &an  cRery
passengrTs

Conclusony :

I Notam ean carmy passcngers
11 Some trams cannul carry passengers.

LAY Nefther conclusion 1 nor 11 fullows
(B¢ Only conclusion I follows

{C) Only conclusion I fallows

(D) Hoth the conclusions 1 and 11 follow

Thero ame 120 students in a closs. 26% of the

students play volleyball. 40% of he
mmﬁ!m B60% of the
mmmw Hlmmnm
mhmhﬁﬂﬁl&'mnm"
a1 B2




48, Identify the diagram tist best representy the
relatianehip among the dlasses given below ©

Potato, Vogetables and Eatables

@ +©
@ @

47. Which snswer fgure will ecomplete th
pnthernlnunqumlmngun'




lam.

(A 40

hhM-ﬁ af gmhu. Sow R

O's e fallowoed by § and precednd by Kt
10H11B95201 23281083
BGRARTIATIOTESORBIE

A 4 B 7

i 2 B &

LOVE fn endad ws 1267, and HATE 1o eslled ae
ﬁuﬂ'thdiﬂlﬂnm‘nmuTrumdﬁnT
ial LATE 8} HEAT
() LEADY (B TALE
Plad the wrong wumber in the glven ser,
from the givon Altereslive
448, 221, 108, 46, 28

A3 108 im
i) 48 iy E#
_Am#mhhhwmun
B, G, 10 fn the prraportion of & & SN C
et ¥ 1,000 more than D, st i B's share

(AL T 2,000 B AG
£y * 3400 D) =00

I P sand for +, 'Q for x, B e -+ and G for -
HGEPISREQIaT
) 16

fCr 200 o 42

hlpﬁtﬂiﬂmm Tedore
any operanen is ﬂll"ll. the ‘numbers are
changed as under:

1to 4 changed o 1

BtoSdanged 102
-Wﬁnl’*h above condition, find the answer

 of the follawing equation -

ﬂd¢+m+rm_m-z




khmmmﬂuﬁmuﬁfmemm mmﬂmmw Find
_}unnr&mﬁgmmmmum () mm awwwm Iether

‘Pandit Hariprasad Chaurasia played / a fiute at the Music Conferenee (in ® small town. / No erro
T e - o D)

m

@ﬁm ﬁmuﬁhﬂmm BE. A leygslabion was passed to punish brokers
ﬁuuﬂhbﬁmﬁlhkmﬂmﬂm -h__matmﬁm

(C) devour (D) embezele

59. He fell down a fight of stairs and broke
ALY e _

(A up i T




pe i guestions mo €3 and 64 choose the
ie 6 meaning o the gioen word ond

T et the thess hail way Ul
i+ finally finshed s thess after

We comld sit here ==t =ik ol the
M.

Al if the cows o b showiy
(B4 for & very long trme

IC1 [or avery short spas of toe
105 if the cows comee bhome gesckly

0. m-udlmhwhm -.:3 _
{UJ"M exbauss & 1nmnﬂmﬂﬂl~_ ble




H" Historians feel there & a0 earmes oeed for
the review of histery boaks every five vears
"'mdlm'iliﬂlﬂflhtmmmnﬁau
1A urgent

O Anapensable

(B) imperative
(B Noimprovemant

Directions ; In guestions 5o. 73 to 79, a sentenrr
‘has been giver in Active/ Passive Voice. Out of the
four alternatives mugpested. select the one iwhich brst
. expresses the same gentence in Passive/Active Voicr
. and mark your answer in the Answer Sheet.

‘;m He arranged the fumniture in the house
 according to the decorator’s plans.
{A) The furniture was arranged in the house
according to the decorator’s plans
~ (B) The furniture was being arranged in the
i house according i the decorator's planes.
{0} The furniture had been arranged in the
P =t house according to the decorator’s plans.
~ (D) The furniture have been arranged in the
bousa according to the decarator’s plans.
itial Caleulus is being learnt by the

77. By whom is John looked after 7

(Al Who is looking after John *
B Wh loaks after Jubn !

(€ John Iooks after whom ?
(D) Whom looks afier John 7

The horse jumped aver the fenoe
i4) The fence was jumped by the horee

(B! The fence might be jumped over by the
harar

{04 The fence was jumped over by Che P

M The fence by the hore was jumped over

To make the batter add one tablespommful of
baking powder to the cake mixture

(A} One wablespoonficl of laking powider
could e added e the cake micture fo
make the batter

(B} Let one wnblespoonful of baking powder
bo added 1o the cako minture to make

the batloer

Let only one tablespoonful of baking

powder be added to the cake muxture to
mnke the batter

(D) One tablespoontful of baky np powder may

be added 10 the coke maxtore to make
the butter

directions : In questions no. &0 tn 84, a sentonce
has been given an Direct  Indirect. Oue of the four
elternatives sugpested, seiser yha ahe which best
expresnes the sume sentence in Indirect / Direct and
mark your answer in the Ansuer Sheet.

B0. -Tmlﬂl'.l.l'lflh.ltlm'l_n n
said the little boy 10 the m“l:h o e
(A% The little bo




8L 'I'm-mlmiilﬂr ‘ugid the swnilow.

"l‘n-ﬁudhm'nﬂ-

A The wwallow rop thel he wis
waited for in Egypt and couldn’s stay

IBi The swallow told thet he is sorry he
cannat stay and added (%t be s walted
for in Bgvpt

{C) The swallow said he was sorry his
couldn’t sixy and added that someene
s wiing for him in Egvpt.

(D4 The swallow regretted he couldn't stay
an he was waited for in Egypt

The nobiee  reads, “Trespessers will be

A The notior reads that trespaasers will be
() The notice read that trespaseers will he
promeeuted.

tﬂlﬂlm'rﬂihﬁmm
M

D] The ki reskds that lrespossers would
hﬂm

The mﬂh*hd‘uﬂ 10 come on the

foatpath,

mJ'Ihuﬁprmd fo the chid, "You
should pame ua the footpath,”

(m mmﬁrﬂdmth:d:ﬁd. “Come en
the footpath *

] m\;gqhu- eid, “Come, child come.
) W:h‘ﬂ# maid, “Please come on the
footpath, child n

mﬁi%m celebrate the festival
“.f a8 i tomorrow.”

| ihe last sentencod of the  pssoge T ey

Directions ; In guestions wo. 8F 4o 8 fhic

sentency ore mawbered §oand & The vl
prazmge /sentnnce Ax ggdil iale frar paris and 8
P Q. K und X These four parts e nof i

At the time wher the iy of Vanics'
Ialy was rich sad facwus, nne of her
chid citimers was a merchant nameed

Q

Eﬂwhlmﬁﬂl‘L

S He was well kpown for b ki

& Fnrtbemrh;ud\’“-u

man, who owned mamy diq-
u-dndmthfwu'um ?

FR3GQ (B PoQES
SQrp e sPEQ

Sell help menns doing cur own
ourselves.

The moet successful man |y hr\lrhn'.' i
depends the least on uthery. -

‘lheut-nmwmwjuhu
h\mwm G

S Such people are rarely successful,

6 He has a mrength of mind and,
hmh:-ﬁnhmmhumm.

B RP5Q
(D) QPSR

(©) PQRS




L Dante was of moderate height
I P. clad nlways in such sober dress
Q. with n slow and gentle pace

. was accustomed to walk somewhat
bowed

5. ond after maturity
6. m=befitted his npe vears.
(A} QSEP (B} SRQP
() RQSP (D) PSRQ

6.

(A)
ch

Directions : In guaestions no :
following passage some of the words have foeen Lot
out. Read the passcge carcfilly and chouse M
correel Gnatver Mo eoch guestion oul of the foiln
alternatives and fill tn the blanks

iy,
ore should be joint effort of Etﬂ!
I‘orﬁmﬁmnndmd‘thtlm!; i
and women ure nipped in the bud.
Inmehm.hrnﬂnsﬁmlﬁnm we |
cannot remain idle onlookers
becoming |
Many voungsters are L
victims of this deadly corse.
We should take the p]edg!- — Tt s
unite for & drug-free world, !
RQPS (R BQRF

PQRS i PSQH

4

5.

o] ta 95, in tHe

The sun hod sot but there was still son

(A3
(o]

(A)
(C)

beht in the sky, Martin _91 on hie elbow ant '...
looked 92 through the leaves In the waters of th

inke, close to the shore, he saw a 93 of alligatars’
floating quietly. One of the creatures,

one, was lying on a hagh 95 of sand, a few yards
from the water.

94

huge

sal (B) erossed
leaned (D) lay
into (B4 down
ot (D) for
f"‘“ﬂ (B) family

e (I¥ number
" (By a

D) singls




Divections : hmmﬂ‘hiﬂﬂw

briof passoge with & questions following the |

pusange. Read the passnge corefully und chovsr the
best ansuwer to pach gquestion out of the four
olternatives and mark it by blarkening the
approprigle oval (W) i the Aasier Shevt

[ could not help thinking, ns | looked at the
works of Shnkeapeare on the shelf, that it would
hitve been lmpossible, completely snd entirely, for
4ny wemar to have written the plays of
Shokeapeare in the age of Shakespenre. Lot ms
imagine, sinee faota are o hard to come by, what
would hove happened had Shakespeare bad &
womiderfully piftd sister, called Judith, let us sy
Shakespeare himself went, wery probshly — his
muther was an heiress — o the grammar school,
where he moy have learnt Latin — Owid, Virgl and
Horace — and the elements of grammar and logae.
He was, it e well known, a wild bow who poached
rabbits, perhaps shot a deer, and had. rather soaner

than he should have done, 10 marry a woman in the

neighbourhood, who bore him & child rather quicker
than was right. That escapade sent him to seek his
forune in London. He had, it seemed, & taste for

the theatre; he began by holding horses at the stage
doar, .

«CE 2013/Page 17

100,




. complementazy, T the distance betwoen the |
_-Jﬂﬂﬂlﬂgﬂmﬂﬁtmlsn units, then
it is nloraps true that ; s

Hea H
—— e




) !d‘mmﬂﬂm-%eﬂﬂllf
b of circls of gircumference 132 om
number be made fram this wire is

:::txn ay 50
inlerpect

: D ([ 1000
e, : 2) 43y (C) 100 (D
M lersect at the point (2, %4y 2 O i the incentre of A ABC and the
IR T =k . -"'J - '
‘intersect at the point (1, 3) — f1. Su;ppatt‘] < i {he sides BC, CA uad AB ot the
circle touches

ints P, Q. R respectively. 17 & A = 60°, then -:__
the magmitude of & QPR 1=
Il.t' lllﬂ‘ |H| B
©), w0 (D) 120°

. In an isosceles thangle ADLC, AD AC;
cirtle drawn with AB as diameter intersects
BCat D.If BD =8 ¢m, then the length of CD
i
(A} Bem (B) 15em
1€ Sem M) 8 em

(Br 4 A veriical stick, 12 emy long, casts o shadow

(D) 12 8 cm long on the ground. At the same time a

; lower casts a shadow 40 en long on the

i N T S a0 s ground. Determine the height of the (ower
1__4-'3‘ 2 (A} 50 cm (B) 40 ¢m

{B) 2
tre of a right-angled
; » PEht-angled at B, the position
of point O is
(A} lies on BC
(B} mid-point of 05
(D) outside the




B T
D) T 4040

85, The average of 15 wumbers is 7. If the
average of the first § numbers is 65 and the
~ avernge of the last 5 numbers is 8 5, then the
ﬂﬁgegﬁiﬂhﬂh
(B 10
(Dl 13

(D) 126

131

132

133,

134,

(B 40 days
) J6 dnys

The
abus 40 m
bus is 60 m behind. The

(A) 18 kmph (B) 36 kmph
{C) 20 mfsec (D) 72 misee
A producer of lea Wende two varielies of
{ea from two tea gardens, one cosbing ¥ 240

a‘jl'""-l al the hue i=

ﬁmd‘mdmﬂﬂﬁimph locatey ‘
shead of him. After 20 secands thy

per kg and the other T 300 per kg, in the

ratia 5+ 3 10 he sells the blended voriely sl
T 316 per kg then his gain poreant s
1

4 1= (B) 10
. g
=]
ﬂ:’ m In'll l“.r:|
A ond B entered into a partnershap with

capitalsan the Talio € ° 5 Alter 3 months A
withdrew i- of his capital and B withdrew

1 :
: of his capital. The gain ot the end of

10 months was T 760. A's share in this profit
is
(AY ¥ 540

(C) = 3ep

(B} = apo
{0} ¥ 450

A shopkeeper earns g profit of 15% on sell
a book at 10% discount on the o o

printed price.
The ratio of the cost price and the printed
price is
{A) 18:23 A 1
G:9
(Ch 18:7 :

D) 17:23

acn et

-
e e et T s



.{m :
(D 10

. Theaumbrf el
mhmmmtm 1 visian

(Al 64
(C) 50 (D) B1

B 5=

FOR VISUALLY HANDICAPPED CANDIDATES ONLY

147. A certain summmounts o F 6,182 in ¢ youmn
and ¥ 5,832 in 8 vears 10t simple intere
i5 caleulated annually, then the principal &

" in B0, how many students will get it ? {A) T 4,000 ;flh T 9000

A @) 12 () = 5000 o) = as80

(o a2 o 10 _
If the hewght s dquhbﬂi and the bose s

ok any students obtained less than 40 7 decreased by 20%, thon (e ratio of old area of
A B B) 2 the tnangle and new area of the tnangle is
© 8 o & (Al 5:8 | @ 2.4
(C) 3:10 [ M) 4:5
: The followsng piechor! shouws the {
If tan 26 t@n 46 = 1. then the value of tan 56
is {
2 |

CA) = By O
va

1 {11 }] \E

1
IFl.ﬂ":‘k'h_""' then the value of b + —— 8
: nx

(A} ®)

o)

- 2l i e




3. Which work of Thomas Paine inspired the
 colonial people to fight against Britain during

- the American War of Independence ?

~ (B) What is the Third Estate ?

- 1) Common Sense

.~ {D) The Spirit of the Laws

}ummummmﬁmﬁ;.

price of consumer goods and werviees
purchased by households s
1Al Wholesale price index
(B) Consumer price index

(C) Human development index
M) Cost of living index

157. Oligopoly consista of

(B} Two sollers

(A} Few eallers
{C) Three salters

i Single seller

National Income in Tndis is setimated by the

(A prodect and imeome methods
(B) product method

(C) income method

D) sxpenditure method

159. The fixed cost in the short-run for a producing
firm will be

(Al always fluctunting

(B) always declining

(G) always constant and fixed
(D) always incroasing

160. Machine tool 15 o1 example of

(A} intermedisry
(C) capital

poods.

(B) eon=pmer

D free

Gandhara art was the combination of

{A) Indian and Persinn styles of sculptures
{(B) Indian nnd Chinese styles of sculptures
(C} Indinn and Greek tyles of seulptures
D} None of these

Maohammed Gawag
Vakil in the

161.

162

was a famous Wogir and




) Beseytosa
(6 Endocysacis
(©) Plasmatyis

L H._rmmh the vector of
{.H M-I-m

{ﬂ.'!'lﬂlrinl

170 k:ﬂui#hﬁt%- w
p-lm,_"f“ 7
(A) 15days ﬂﬁq@lﬂm

e

(€ 18 dayn qﬂhl
171 The elestarnl. mﬁ# e Providess

8 AN nﬂnt«‘“ the
: Hogwez |

«© ummm th Houmes




iyt '-.. \ : .-l'

480 Mavs corrctly the crope Hsd i List 1 with 5

s affecting them given in List I1;
h. o i List IT o
Cripd) {Diseases)
. el 1. Downy mildew
b Wheat 2. Blast
c.- Mustard 9. Red rot
4 » 4. Rust

(A) a4, b2 ¢d,d-
(B) u-1,b-2, c-4,d-3
(C) a5, b1, o2 d4
(D) =-2, b4, c-1, d-3

able to do per unit time. 185. A plant with green lesves viewed in red light

ill appear
B! Output kit
(Al Violet (BY Rlack

(C) Green (D} Red

186. A body moving o a circular path with
constant speed has
(A} radinlly outward sccelerntion
{B! constant retardation
{C) constant aceeloration
(D) varmble scosleration

187. Total internal reflection oceurs when light
© travels from

A & denser |_nedium Lo & rarer mediam with
ungle of incidence greater than eritical
angls

(B) ararer mediem i 2 denser medinm
(C) adenser medium to g rarer medium

# rarer meding 19 3 denser medium with

angle of incidenes grester than critical
angle

BT 188. MCB, which cuts off the ¢ '

T ectricity supply in
case of short-circuiting works gp thye

(A dutrnplllin(d[ncl.nft‘u:mt
(B} d:-miu.'.druu.n{mn-;m
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mdfmmuﬁﬂﬂﬂ couniries i not o
mnﬂm- wof ‘the Crganization ‘of Petroleum

(B} Algerin
(D) Ecundor

t'nn events in which Indis won gald
s in the Asian Athletic Championships,
| Women's 4 » 400 m Br.l:_rr and Men's
D.I.m!'hru

187.

188,

133,

il |
(A} Henvy mctals Bl .D:mt*IBulnt
(C) Bleachingefilvent (D) Sewge

The eoncentration ol Fnllutlfnu- in
|ntmasphire are E‘mﬂrﬂ]l?.mmud =

{A) - parts per trillion
(B4 ports per million
(€)' parts per billion
(D ],;ﬂqjgrn_m pE_'rqull:l'H melra

Which country wor the  Confederstions
Cup, 20137

(a) Tiropiny (B Spuin

(C) Hrazii (0 Italy

Who la the Chiel Justics of Indin
(A afustioe KOG Balokrighnan
(B dustice Alvamae Kahir

(C) Justice P Sathnsivam

(D Juatice Murkandey Singh

Which ane of the following days does mat
eynchronies with the birt snmversary of any

enupent Indiun 7

LA} ‘Gandhi Javnnti

(B National Seiones Dy
(C) Teacher’s Day

(D) Chﬂd.ttn'l Dj;r

Which one of the following
B novals was mal
wntten by Charles Digkons ?

Ay Pickimek Papery
(B) Hard Times
{C} Pride gng

D) Oliver Tusiz
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